
 

 

 

 

 

 

 

 

 

 

 

32 2 CPFW375-Z 3/8” Flat Washer – Plated Stock 

31 3 CPLW500-z ½” Lock Washer – Plated Stock 

30 2 CPLW375-Z 3/8” Lock Washer – Plated Stock 

29 4 CPSW500-S ½” Structural Washer – Steel Stock 

28 1 CP3173- ___ T-Member (Finish Part # with Cylinder Length) Stock 

27 1 CP12850-A-40-15 *** Dangler Assembly – 40” OAL Stock 

26 2 CPB375X1.25-Z 3/8” x 1-1/4” Hex Head Bolt – Plated Stock 

25 1 CP3116-4 *** Cross Cable Connector – 4/0 Stock 

24 4 CPB500X1.5-Z ½” x 1-1/2” Hex Head Bolt – Plated Stock 

23 1 CP8001 Idle End Hanger (NOT SHOWN) Stock 

22 1 CP8000 Hanger Arm – Drive End Stock 

21 6 CP3103 Rubber Plug Stock 

20 6 CP51618 Collar Bearing Screw – Stainless Steel Stock 

19 1 CP52474 #2 Teflon Sleeve Bearing Stock 

18 1 CP52473 #2 Collar Bearing – UHMW Stock 

17 1 CP3680-G Idle Shaft – Hardened Steel Stock 

16 1 CP3679-FS Idle Gear – Poly – No Bushing – 24T4P Stock 

15 1 CPFW500-1750-Z Idle Gear Washer – Plated Stock 

14 1 CP3046-FS Inside Drive Gear – 16T4P Stock 

13 2 CP1506 Oilite Bushing Stock 

12 2 CPK250 ¼” Key – Steel Stock 

11 1 CP3048-G Drive Shaft – Steel – (Machined for Grease) Stock 

10 1 CP3687 Outside Drive Gear – 21T6P Stock 

9 2 CPFW500-Z Drive Gear Washer – ½” Flat Washer - Plated Stock 

8-A 1 CPB500X1G-Z ½-13 x 1” Hex Head Bolt w/ Grease Fitting - Plated Stock 

8 2 CPB500X1-Z ½-13 x 1” Hex Head Bolt - Plated Stock 

7 1 CPGF-125 Grease Fitting - Plated Stock 

6 2 CP3104 Horn Jam Nut – Plated Steel Stock 

5 2 CP3054 Horn Washer – Plated Steel Stock 

4 2 CP3053-A Horn Insulator Bushing – Phenolic Stock 

3 4 CP3054-B Horn Washer – Phenolic Stock 

2 2 CP3106 Horn Guard – Machined Steel Stock 

1 2 CP3052 Copper Horn Stock 
 

Item # 
Order 

Qty. 

 

Part Number Description Availability 

 

Parts List Fully Submerged Polyglass Hanger Arm Assembly 
 

*All Hardware to be Zinc Plated Steel Unless Otherwise Noted on Sales Order 

**Idle & Drive Shaft to be Steel Unless Otherwise Noted on Sales Order 
 

*** Dangler & Cross Cable Only Provided with a Complete Barrel Assembly – 
Hanger Arms Going Out on a Parts Order DO NOT Include Dangler or Cross 

Cable Unless Otherwise Noted on the Sales Order 
 


